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DXyy =X2 (B)=X1 (T) DXy i=—OXy)  AY,, :=Y2 () =yl (L) Ay, :=—24Y,,
Mgy =X3 (T)=X1 (t) OXp5:=—2IXy) Ay, :=Y3 (L) -yl (t) Ay 5:=—24Ys
Mgy =X (T) = X2 (L) Xyg:=—OIXg,  AYg, :=Y3 (L) —Yy2 (L) AY,5:=—14Y,,
F(n#, u#, v#):= G-m -4n I
s :=var2str uw x1(t) yl(t)
2 2'3
{5502+ o3, x2 (t) 2 (t)
= #
s :=strrep (s, num2str (uU), num2str (u#)) x3(t) y3(t)
S = strrep(s , hum2str (v), num23tr(v#))
str2num(strrep (s, num2str (n), num2str (n#))) funvec
G:=1 m:=30 m,:=2 m;:=0.5 tq=1
Xl(O):O Xl'(O):—l X2(O)=—3 X2'(O)=1 X3(O)=—3_1 X3'(O)=2
yl(0)=0 yl1"(0)=-1 y2(0)=-0.2 y2" (0)=0 y3 (0)=-0.1 y3" (0)=0
x1"" (t)=F (x,2,1)+F(x, 3,1) yl=® (t)=F(y,2,1)+F(y,3,1)
x2"" (t)=F (x, 1, 2)+F(x, 3, 2) y2 " (t)=F(y,1,2)+F(y, 3, 2)
x3"" (t)=F(x,1,3)+F(x, 2, 3) y3™" (t)=F(y,1,3)+F(y, 2, 3)
M= Rkadapt{funvec N S 1100]
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